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Opener: Does order matter? 
 

Student 1          Student 2 
       2 + 5 x 4           2 + 5 x 4 
 

 
 
 

 

 
 
 
Ex 1: 

 
 
 
 
 
 
Ex 2:  
  
 

	
  
	
  
	
  
	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  	
  	
  	
  	
  	
  
Ex 3:      Ex 4: 

	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  

 
	
  

	
  
	
  
	
  

(Left	
  to	
  Right)	
  
	
  
(Left	
  to	
  Right)	
  



	
  
	
  

	
  
	
  

	
  

	
  
	
  
	
  

	
  

	
  
	
  
	
  
	
  

	
  
	
  
	
  
	
  

	
  
	
  

	
   	
   	
  
	
  

	
   	
  
	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  



	
  
Simplify	
  the	
  following	
  expressions	
  using	
  the	
  order	
  of	
  operations.	
  
Show	
  work	
  for	
  each	
  step.	
  
1) 13− 8 + 3 	
   2) 5 ⋅23 + 7 	
   3) 24 ⋅4 − 2 ÷ 8 	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  

4) 24 + 4 3+1( ) 	
   5) 1
2
21+ 22( ) 	
   6) 8 20 − 9 − 5( )2⎡⎣ ⎤⎦ 	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

7) (2 + 5)(3 + 4).	
   8) ((2 - 3) × 4) + 1	
   9) 2{1 + [4(2+1) + 3]}.	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

10) 2 + 4 × 15
5

 11) 16 ÷ 8 − 10 − 6( )⎡⎣ ⎤⎦  12) 2 15 –18( )2 – 7  
 
 
 
 
 
 
 
 
 

Describe	
  and	
  correct	
  the	
  error	
  in	
  evaluating	
  the	
  expression.	
  
13) 	
  

	
  
	
  
	
  



Simplify	
  the	
  following	
  expressions	
  using	
  the	
  order	
  of	
  operations.	
  
Show	
  work	
  for	
  each	
  step. 
14) 	
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16) 	
  

66 – 2 33 – 20( ) + 3 	
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Simplify	
  the	
  following	
  expressions.	
  	
  
Show	
  work	
  for	
  each	
  step.	
  
22) 	
  

	
  

23) 	
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25) 	
  

	
  

26) 	
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Evaluate	
  the	
  expression.	
  
Show	
  work	
  for	
  each	
  step.	
  
28) x + y when x = 11 and y = 6.4 	
   29) y − 2x when x = 0.6 and y = 1.4 	
   30) x2 − 3 	
  	
  when	
   x = −2 .	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

31) 6t 2 −13 	
  when	
   t = 2 	
   32) 3 m2 − 2( ) 	
  when	
  m = 3
2
	
   33) b3 − 21

5b + 9
	
  when	
  b = 3 	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  



	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
3)	
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5)	
  	
  Find	
  the	
  perimeter	
  of	
  a	
  rectangle	
  with	
  a	
  length	
  of	
  8.25	
  inches	
  and	
  a	
  width	
  of	
  4	
  inches.	
  	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

6)	
  	
  The	
  equation	
  for	
  the	
  area	
  of	
  a	
  trapezoid	
  is	
  A = b1 + b2
2

⎛
⎝⎜

⎞
⎠⎟ h .	
  Find	
  the	
  area	
  given	
  

b1 = 20,b2 = 24, and h = 10. 	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  


